® 12400 Earl Jones Way
Louisville, KY 40299
Customer Service: 800-626-1126

Innovation through Organization™

INSTALLATION INSTRUCTIONS

SOFT-CLOSE CHROME BLIND CORNER OPTIMIZER

TOOLS REQUIRED:

@ Two-Tier (5PSP-XXSC-CR) Three-Tier (5PSP3-XXSC-CR)

2
°

Description

PARTS LIST

Base Unit

Frame

Feet

Guide Channel

Chrome Wire Trays

Left/Right Handles

Mé x 10 mm Wafer Head Screws

T |m |00 |® |>

M5 x 6 mm Pan Head Screws

5/32" x 18 mm Wood Screws

Shoulder Bolts

CARE AND MAINTENANCE: K Top Wheels

(@) M4 Truss Head Phillips/Slotted Screws

—

Clean with a damp cloth and
Wipe parts dl'y. *Dependent on size purchased

G)
WATCH TUTORIALS OF OUR S%

PRODUCTS BEING INSTALLED

WWW.REV-A-SHELF.COM/VIDEOS

I-5PSPSC-0525



STOP!

CONFIRM YOUR ORIENTATION
BEFORE CONTINUING.

FOR BLIND LEFT/RIGHT DOOR PLEASE GO TO PAGE 5

Full-Height Blind Right

(BLIND RIGHT/LEFT DOOR) &

Blind Portion
of Cabinet

Door Opening

He O HOOGERQG

Refer to the diagram below for your unit size (15" or 18"). Measure and mark Align the Base Unit (A) with the marked hole. Ensure it is square to the
the position of the first base hole inside your cabinet based on the dimensions cabinet opening, then pre-drill and secure the unit to the cabinet floor
shown. using (18) 5/32" x 18 mm Wood Screws ().
Note: “Blind” sticker on the Base Unit (A) should be in the blind of the
5PSP-15SC-CR cabinet.
; 0
FIRST BASE ® ® { o o o o J
HOLE
i BLIND
/ > ® ® ®
0 0 ® ®
. o
\ B FIRST BASE
L | IE HOLE
Sle i H BLIND >
Face Frame From Front of Cabinet
12"
(305 mm)
From Door Opening

SPSP-18SC-CR

FIRST BASE

HOLE
[ / BLIND >

7-1/4"
(184 mm)

Face Frame " From Front of Cabinet
13-1/2"

(343 mm)

From Door Opening

2 @REV-ASHELF 800-626-1126 | rev-a-shelf.com



3 JOEN BGoaE

Flip the Frame (B) on its back and move the pre-installed left wheel to the top Attach the Feet (C) to Frame (B), aligning the directional arrows on both
position as shown for a Blind Right/Left Door. parts. Secure with (8) M6 x 10 mm Wafer Head Screws (G).

Note: Ensure the orientation of the stickers on the Feet (C) is correct.
“Blind” and “Door” labels must face the appropriate direction.

H o J2 s JEROR0)!

Slide the rails on the base unit to the cabinet opening. Position the Extend the top rails of the Frame (B). Attach Handles (F) to the first handle hole
assembled frame on top of the base, then secure it using (6) M5 x 6 mm Pan on each side using (1) M4 Truss Head Phillips/Slotted Screw (O) per handle.
Head Screws (H).




M5 x 6 mm Pan Head Screws (H) into the front of the base to prepare for Guide

Slide the Frame (B) toward the blind portion of the cabinet. Partially install (2)
Channel (D) installation.

s JaYe
®

With the top rails extended, install the (2) Top Wheels (K) into the top of the

Frame (B) using (1) Shoulder Bolts (J) each.

QD _®

\"

\\

77

Note: For three-tier units, secure the middle-tier trays using the middle wires.

Attach Chrome Wire Trays (E) by securing them on the hooks directly behind the

first vertical wire.

“Blind” and “Door” labels must face the appropriate direction.

Note: Ensure the orientation of the stickers on the Guide Channel (D) is

Hook the Guide Channel (D) onto the pre-installed screws on the front of the

Frame (B). Once aligned, fully tighten the screws to secure.

correct.

@REV-ASHELF 800-626-1126 | rev-a-shelf.com



STOP!

CONFIRM YOUR ORIENTATION

BEFORE CONTINUING.

FOR BLIND RIGHT/ LEFT DOOR PLEASE GO TO PAGE 2

(BLIND LEFT/RIGHT DOOR)

He O

Refer to the diagram below for your unit size (15" or 18"). Measure and mark
the position of the first base hole inside your cabinet based on the dimensions
shown.

SPSP-15SC-CR
0 ’ 0
FIRST BASE
. HOLE
<BLIND 1
0 0
- |E r
TE | |
S
kS
From Front of Cabinet/ 12"Face Fl’ame<‘/
(305 mm)
From Door Opening
5PSP-18SC-CR
0 ’ 0
FIRST BASE

<«BLND "

7-1/4"
(184 mm)

13-1/2"
(343 mm)
From Door Opening

From Front of Cabinet Face FrameT

Full-Height Blind Left

-

Blind Portion
of Cabinet

Door Opening

BHoOOGRQ

Align the Base Unit (A) with the marked hole. Ensure it is square to the
cabinet opening, then pre-drill and secure the unit to the cabinet floor
using (18) 5/32" x 18 mm Wood Screws (l).

Note: “Blind” sticker on the Base Unit (A) should be in the blind of the
cabinet.

[ ] ® ®
® ® ®
@ @

FIRST BASE
HOLE i
<«BLND X

@
®

® ®




3 MO Bb@aaE

Flip the Frame (B) on its back and move the pre-installed left wheel to the top Attach the Feet (C) to Frame (B), aligning the directional arrows
position as shown for a Blind Right/Left Door. on both parts. Secure with (8) Mé x 10 mm Wafer Head Screws (G).

Note: Ensure the orientation of the stickers on the Feet (C) is correct.
“Blind” and “Door” labels must face the appropriate direction

‘\/‘4

&

o

S\
S\
S

i)

5 JSN(ERON s JEEOR0)!

Slide the rails on the base unit to the cabinet opening. Position the Extend the top rails of the Frame (B). Attach Handles (F) to the first handle hole
assembled frame on top of the base, then secure it using (6) M5 x 6 mm Pan on each side using (1) M4 Truss Head Phillips/Slotted Screw (O) per handle.
Head Screws (H).

@REV-ASHELF 800-626-1126 | rev-a-shelf.com



s feye!

®

S

<
!0

7 J

)

2

(

Slide the Frame (B) toward the blind portion of the cabinet. Partially install
M5 x 6 mm Pan Head Screws (H) into the front of the base to prepare for Guide
Channel (D) installation.

With the top rails extended, install the (2) Top Wheels (K) into the top of the

Frame (B) using (1) Shoulder Bolts (J) each.

7

\\\\w\\

7

Note: For three-tier units, secure the middle-tier trays using the middle

Attach Chrome Wire Trays (E) by securing them on the hooks directly behind
wires.

the first vertical wire.

Note: Ensure the orientation of the stickers on the Guide Channel (D) is
correct. “Blind” and “Door” labels must face the appropriate direction.

Hook the Guide Channel (D) onto the pre-installed screws on the front of the

Frame (B). Once aligned, fully tighten the screws to secure.

/ Vi)Y
\\\\\ "
Ve £ A




@REV-A-SHELF
Innovation through Organization™

® 12400 Earl Jones Way
° ® Louisville, KY 40299
rev-a-shelf.com

B . . Customer Service: 800-626-1126
Innovation through Organization"




® 12400 Earl Jones Way
Louisville, KY 40299
Customer Service: 800-626-1126

Innovation through Organization™

INSTRUCCIONES DE INSTALACION / LES INSTRUCTIONS D’INSTALLATION
OPTIMIZADOR DE ESQUINAS CIEGAS ELITE DE CIERRE SUAVE 53PSPE

53PSPE OPTIMISEUR DE RALENTISSEMENT DE FERMETURE POUR ARMOIRE DE COIN CACHEE ELITE

Herramientas requeridas:
Outils Requis:

ﬂa Dos niveles (SPSP-XXSC-CR) Tres niveles (5PSP-XXSC-CR)
Deux niveaux (5PSP-XXSC-CR) Trois niveaux (5PSP-XXSC-CR

PARTS LIST
a No. Descripcién / La description Qty.
Unidad base / Unité de base 1

>

Marco / Cadre 1

@

C Pies / Pieds 2
D Canal guia / Canal de guidage 1
E Bandejas de fondo sélido /Plateaux a fond solide 4orb
F Mangos I/D / Poignées gauche et droite 2

Tornillos de cabeza oblea M6 x 10 mm /

Tornillos de cabeza plana M5 x 6 mm / 8

H AN
Limpie con un pafio hiimedo y Vis a téte plate M5 X 6 mm
seque las partes. Tornillos para madera 5/32 x 18 mm /
| LA 19
. . Vis a bois 5/32 x 18 mm
Nettoyez avec un linge humide et
essuyez les piéces pour les secher J Tornillos empotrados / Boulons d‘articulation 2
complétement.
K Ruedas superiores / Roues 2
o Tornillos de cabeza redonda con arandela M5 Phil- dor8
lips / Vis a téte a embase ronde Phillips M5
VER VIDEOS DE *Dependiendo del tamafio adquirido / Selon a taille achetée
INSTALACIONES DE PRODUCTOS
REGARDER DES VIDEOS

D’INSTALLATIONS DE PRODUITS

WWW.REV-A-SHELF.COM/VIDEOS

I-5PSPSC-0525



: ALTO! ARRET!

CONFIRME SU ORIENTACION ANTES DE CONTINUAR.

CONFIRMEZ L'ORIENTATION AVANT DE CONTINUER.

PARA PUERTA CIEGA IZQUIERDA/DERECHA, VAYA A LA PAGINA 13.
POUR LES PORTES DE COIN CACHEES, ALLEZ A LA PAGE 13.

Panel ciego derecho de altura completa
Armoire pleine hauteur droite

PUERTA CIEGA DERECHA/IZQUIERDA
PORTES DROITE ET GAUCHE DE '’ARMOIRE DE COIN CACHEE &

Parte ciega
del gabinete
Apertura de la puerta Partie cachée
Ouverture de la porte de I'armoire
He HBoO OGBS
Consulte el diagrama a continuacion segin el tamafio de su unidad (15" o Alinee la unidad base (A) con el orificio marcado. Aseglrese de que esté
18"). Mida y marque la posicion del primer orificio de la base dentro de su perpendicular a la abertura del gabinete, luego taladre previamente y fije
gabinete segun las dimensiones indicadas. la unidad al piso del gabinete utilizando dieciocho (18) tornillos para
" . . . . . madera de 5/32" x 18 mm (I).
Référez-vous au diagramme ci-dessous en fonction de la taille de votre unité Nota: La calcomania que dice “Blind” en la unidad base (A) debe quedar en
(15" ou 18”). Mesurez et marquez |'emplacement du premier trou de base a la parte ciega del gabinete.

I'intérieur de votre armoire selon les dimensions indiquées.
Alignez I'unité de base (A) avec le trou marqué. Assurez-vous qu’elle soit bien

S5PSP-15SC-CR d'équerre par rapport & l'ouverture de |'armoire, puis percez des avant-trous
n n et fixez I'unité au fond de I'armoire a I'aide de dix-huit (18) vis a bois
5/32" x 18 mm ().

Remarque : 'autocollant « Blind » sur 'unité de base (A) doit étre positionné

dans la partie aveugle de I'armoire.
0 0
ORIFICIO DE
PRIMERA BASE
i e woV PANEL CIEGO
CACHE
® ® D - - |
0 0
)
N e ® ® ®
i 1 I ® ®
NEPS ORIFICIO DE
pi PRIMERA BASE
PREMIER TROU
arco frontl \_ Apertura de la puerta principal DELABASE E PANEL CIEG Q
\Fndu frontal 120 Ouverture de la porte avant CACHE
(305 mm)
Desde el frente del gabinete ®
De I'avant de I'armoire
®
5PSP-18SC-CR
® ®
[ 1
.
) 0
ORIFICIO DE
PRIMERA BASE
i PREMIER ROV g PANEL CIEGO
CACHE
L) 0
N —
= |E
[ 7 S| €
S
~NE

Desde el frente del gabinete
De I'avant de I'armoire

(343 mm)

Apertura de la puerta principal
Ouverture de la porte avant

10 @REV-ASHELF 800-626-1126 | rev-a-shelf.com



3 I

Voltee el marco (B) sobre su parte posterior y mueva la rueda izquierda
preinstalada a la posicion superior como se muestra para una puerta ciega
derechal/izquierda.

Retournez le cadre (B) sur son dos et déplacez la roue gauche préinstallée vers
la position supérieure comme illustré pour une porte aveugle droite/gauche.

B o J2

Deslice los rieles de la unidad base hacia la abertura del gabinete.
Coloque el marco ensamblado sobre la base y asegurelo utilizando seis (6)
tornillos de cabeza plana M5 x 6 mm (H).

Faites glisser les rails de I'unité de base jusqu‘a I'ouverture de I'armoire.
Placez le cadre assemblé sur la base, puis fixez-le a I'aide de six (6) vis a téte
plate M5 x 6 mm (H).

4 JERC

Fije las patas (C) al marco (B), alineando las flechas direccionales en ambas
piezas. Asegure con ocho (8) tornillos de cabeza ancha Mé x 10 mm (G).

Nota: Las patas (C) tienen calcomanias que dicen “Blind” y “Door”. Asegurese
de que las calcomanias estén orientadas correctamente.

Fixez les pieds (C) au cadre (B) en alignant les fleches directionnelles sur les
deux piéces. Fixez a l'aide de huit (8) vis a téte large M6 x 10 mm (G).
Remarque : Des autocollants sur les pieds (C) indiquent « Blind » et « Door ».
Assurez-vous que les autocollants sont orientés dans le bon sens.

Extienda los rieles superiores del marco (B). Fije las manijas (F) al primer orificio
para manija en cada lado utilizando un (1) tornillo de cabeza redonda tipo truss
M4 con ranura/cruz (O) por cada manija.

Allongez les rails supérieurs du cadre (B). Fixez les poignées (F) au premier trou
de poignée de chaque cété a l'aide d'une (1) vis M4 a téte bombée cruciforme/
fendue (O) par poignée.

11



7 [GZE30)

Con los rieles superiores extendidos, instale las ruedas superiores (K) en la
parte superior del marco (B) utilizando los pernos con hombro (J).

Avec les rails supérieurs étendus, installez les roues supérieures (K) sur le
dessus du cadre (B) a l'aide des boulons a épaulement (J).

BGe
©

Enganche el canal guia (D) en los tornillos preinstalados en la parte frontal del
marco (B). Una vez alineado, apriete completamente los tornillos para fijarlo.

Nota: Asegtrese de que la orientacion de las calcomanias en el canal guia
(D) sea correcta. Las etiquetas “Blind” y “Door” deben estar orientadas en la
direccién adecuada.

Accrochez le canal de guidage (D) aux vis préinstallées a 'avant du cadre (B).
Une fois aligné, serrez complétement les vis pour le fixer solidement.

Remarque : Assurez-vous que ['orientation des autocollants sur le canal de
guidage (D) est correcte. Les étiquettes « Blind » et « Door » doivent étre
orientées dans la bonne direction.

s [EIO!

Deslice el marco (B) hacia la parte ciega del gabinete. Instale parcialmente dos
(2) tornillos de cabeza redonda M5 x 6 mm (H) en la parte frontal de la base
para preparar la instalacion del canal guia (D).

Faites glisser le cadre (B) vers la partie aveugle de |'armoire. Installez
partiellement deux (2) vis a téte cylindrique M5 x 6 mm (H) a I'avant de la base
pour préparer l'installation du canal de guidage (D).

Fije las bandejas de alambre cromado (E) asegurandolas en los ganchos
directamente detrés del primer alambre vertical.

Nota: Para unidades de tres niveles, asegure las bandejas del nivel medio
utilizando los alambres centrales.

Fixez les plateaux en fil chromé (E) en les accrochant aux crochets situés juste
derriere le premier fil vertical.

Remarque : Pour les unités a trois niveaux, fixez les plateaux du niveau
intermédiaire en utilisant les fils du milieu.

12 @REV-ASHELF 800-626-1126 | rev-a-shelf.com



{ALTO! ARRET!

CONFIRME SU ORIENTACION ANTES DE CONTINUAR.

CONFIRMEZ LORIENTATION AVANT DE CONTINUER.

PARA PUERTA CIEGA DERECHA/IZQUIERDA, POR FAVOR VAYA A LA PAGINA 10.

OUR PORTE AVEUGLE DROITE/GAUCHE, VEUILLEZ VOUS RENDRE A LA PAGE 10..

PUERTA CIEGA IZQUIERDA/DERECHA

PORTES GAUCHE ET DROITE DE 'ARMOIRE DE COIN CACHEE

Heo O

Consulte el diagrama a continuacion segin el tamafio de su unidad (15" o
18"). Mida y marque la posicion del primer orificio de la base dentro de su
gabinete segun las dimensiones indicadas.

Référez-vous au diagramme ci-dessous en fonction de la taille de votre unité
(15" ou 18”). Mesurez et marquez |'emplacement du premier trou de base a
I'intérieur de votre armoire selon les dimensions indiquées.

0 0
ORIFICIO DE
PRIMERA BASE
PREMIER TROU
PANEL CIEGO DE LA BASE J
CACHE
il /) 0
= NI
= |E
e I———
< |
N |
hay
Desde el frente del gabinete padihet
De I'avant de 'armoire 120
(305 mm)
Apertura de la puerta principal
Ouverture de la porte avant
0 0
ORIFICIO DE
PRIMERA BASE
PREMIER TROU
PANEL CIEGO DE LA BASE l
CACHE
0 0
= | E
Y e
T
|
hal
Desde el frente del gabinete /. o o
De I'avant de I'armoire 13-1/2"

(343 mm)
Apertura de la puerta principal
Ouverture de la porte avant

Panel ciego izquierdo de altura completa
Armoire pleine hauteur gauche

Parte ciega
del gabinete
Partie cachée
de I'armoire

2 L oNEA(E

Alinee la unidad base (A) con el orificio marcado. Asegtrese de que esté
perpendicular a la abertura del gabinete, luego taladre previamente y fije

la unidad al piso del gabinete utilizando dieciocho (18) tornillos para
madera de 5/32" x 18 mm (I).

Nota: La calcomania que dice “Blind” en la unidad base (A) debe quedar en
la parte ciega del gabinete.

Apertura de la puerta
Ouverture de la porte

Alignez I'unité de base (A) avec le trou marqué. Assurez-vous qu’elle soit bien
d'équerre par rapport a ['ouverture de I'armoire, puis percez des avant-trous
et fixez I'unité au fond de I'armoire a I'aide de dix-huit (18) vis a bois

5/32" x 18 mm (I).

Remarque : L'autocollant « Blind » sur 'unité de base (A) doit étre positionné
dans la partie aveugle de I'armoire.

\ | ® ®
® ® ®
® @
ORIFICIO DE
PANEL CIEGO PRIMERA BASE !
CACHE PREMIER TROU
DE LA BASE
@
®
® ®

13



3 MO

Voltee el marco (B) sobre su parte posterior y mueva la rueda izquierda
preinstalada a la posicion superior como se muestra para una puerta ciega
derechal/izquierda.

Retournez le cadre (B) sur son dos et déplacez la roue gauche préinstallée vers
la position supérieure comme illustré pour une porte aveugle droite/gauche.

5 JSN(ERON

Deslice los rieles de la unidad base hacia la abertura del gabinete.
Coloque el marco ensamblado sobre la base y asegurelo utilizando seis (6)
tornillos de cabeza plana M5 x 6 mm (H).

Faites glisser les rails de I'unité de base jusqu‘a I'ouverture de I'armoire.
Placez le cadre assemblé sur la base, puis fixez-le a I'aide de six (6) vis a téte
plate M5 x 6 mm (H).

< JERRE

Fije las patas (C) al marco (B), alineando las flechas direccionales en ambas
piezas. Asegure con ocho (8) tornillos de cabeza ancha Mé x 10 mm (G).

Nota: Las patas (C) tienen calcomanias que dicen “Blind” y “Door”. Asegirese
de que las calcomanias estén orientadas correctamente.

Fixez les pieds (C) au cadre (B) en alignant les fleches directionnelles sur les
deux piéces. Fixez a l'aide de huit (8) vis a téte large M6 x 10 mm (G).
Remarque : Des autocollants sur les pieds (C) indiquent « Blind » et « Door ».
Assurez-vous que les autocollants sont orientés dans le bon sens.

s JEEOR0)!

Extienda los rieles superiores del marco (B). Fije las manijas (F) al primer orificio
para manija en cada lado utilizando un (1) tornillo de cabeza redonda tipo truss
M4 con ranura/cruz (O) por cada manija.

Allongez les rails supérieurs du cadre (B). Fixez les poignées (F) au premier trou
de poignée de chaque cété a l'aide d'une (1) vis M4 a téte bombée cruciforme/
fendue (O) par poignée.

14 @REV-ASHELF 800-626-1126 | rev-a-shelf.com



7 JEIENE)

Con los rieles superiores extendidos, instale las ruedas superiores (K) en la
parte superior del marco (B) utilizando los pernos con hombro (J).

Avec les rails supérieurs étendus, installez les roues supérieures (K) sur le
dessus du cadre (B) a l'aide des boulons a épaulement (J).

BGe
©

Enganche el canal guia (D) en los tornillos
marco (B). Una vez alineado, apriete comp

Nota: Asegtrese de que la orientacion de las calcomanias en el canal guia
(D) sea correcta. Las etiquetas “Blind” y “Door” deben estar orientadas en la

direccién adecuada.

Accrochez le canal de guidage (D) aux vis préinstallées a I'avant du cadre (B).
Une fois aligné, serrez complétement les vis pour le fixer solidement.

Remarque : Assurez-vous que [‘orientation des autocollants sur le canal de
guidage (D) est correcte. Les étiquettes « Blind » et « Door » doivent étre

orientées dans la bonne direction.

reinstalados en la
etamente los tornillos para fijarlo.

s [EO!

Deslice el marco (B) hacia la parte ciega del gabinete. Instale parcialmente dos
(2) tornillos de cabeza redonda M5 x 6 mm (H) en la parte frontal de la base
para preparar la instalacion del canal guia (D).

Faites glisser le cadre (B) vers la partie aveugle de I'armoire. Installez
partiellement deux (2) vis a téte cylindrique M5 x 6 mm (H) a I'avant de la base
pour préparer l'installation du canal de guidage (D).

Fije las bandejas de alambre cromado (E) asegurandolas en los ganchos
directamente detras del primer alambre vertical.

Nota: Para unidades de tres niveles, asegure las bandejas del nivel medio
utilizando los alambres centrales.

Fixez les plateaux en fil chromé (E) en les accrochant aux crochets situés juste
derriere le premier fil vertical.

Remarque : Pour les unités a trois niveaux, fixez les plateaux du niveau
intermédiaire en utilisant les fils du milieu.

1
\

4
07

al
=/

15



@REV-A-SHELF
Innovation through Organization™

® 12400 Earl Jones Way
° ® Louisville, KY 40299
rev-a-shelf.com

B . . Customer Service: 800-626-1126
Innovation through Organization"




